(4728 1 )

2011/4/28

al 9.14 073 12

a2 9:30 18 24 15:35 18 25

a3 1052 11 17

a4 10:00 076 13

a5 10:22 12 19 1500 13 19

a6 10:48 15 19 14:44 15 18

a7 11:05 6.7 9.0

a8 11:33 38 52 1435 39 53

a9 12:05 53 73 14115 5.2 7.3

alo 12:17 40 6.6 14:04 41 6.7 I
7.

all 12:40 14 19

al2 12:50 072 14

al3 13:20 051 0.78




(4728 2 )
2011/4/28 )
( ( ( (
im lcm im lcm
bl 9:14 0.81 12
b2 15:40 0.92 12
b3 15:27 12 18
b4 15:08 0.56 0.80
b5 14:50 0.22 0.24
b10 14:20 0.24 0.32
b6 P 9:41 0.81 1.0
b7 SA 9:58 0.72 11
b8 10:39 0.18 0.23 14:00 0.18 0.27
b1l 11:31 0.29 0.37
b9 12:15 0.23 0.34




(4/28

2011/4/28

Im

lcm

cl 9:17 0.68 11
c3 10:00 17 24
cd 10:37 0.65 0.94
c5 12:00 0.22 0.32
c6 12:47 0.56 0.75
c7 13:28 2.0 31
c8 14:02 11 15
c9 14:20 10 17
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